( )

COPPIA SUPPORTI ORIENTABILI - PAIRE DE SUPPORTS ORIENTABLES - PAREJA DE SOPORTES ORIENTABLE
AO0077 PAIR OF ADJUSTABLE SUPPORTS - PAR VERSTELLBARE WANDHALTER
JUSTERBAR VAGBESLAG | STAL - NASTAVITELNYCH UCHYT

/
RONDELLA @8 —— 60mm —,
RONDELLE @8
ARANDELA @8
WASHER 28 @ / 60°
U-SCHEIBE @8 , M
SP/ENDESKIVER @8 Fhei
PODLOIKA @8 / (@h+)

VITE M8 x 16
VIS M8 x 16

TORNILLO M8 x 16 (b)

M8 x 16 SREW

SCHRAUBE M8 x 16 N
SKRUE M8 x 16

-ROUBENI M8 x 16

’
, N

RONDELLA @5
RONDELLE @5
ARANDELA @5 (C +d) '
WASHER @5 <
U-SCHEIBE @5 \

SPZNDESKIVER @5 :

PODLOIKA @5

VITE M5 x 18

VIS M5 x 18

TORNILLO M5 x 18

M5 x 18 SREW (e)
SCHRAUBE M5 x 18
SKRUE M5 x 18
-ROUBENI M5 x 18

48056995 -E- 240205 1/2 —>

e N
4

. J

2[2 ——>



